UKS2 (Y5 & Yé6)

‘Learn it...



3 YouTube

MName:

BIG MATHS...

X

N
( Year 5 & 6 - 100 seconds )

My ‘Beat That' *B EAT THAT!
A
3+2= Gxé= 7+5= Bx2= 8+3= B+d= Q+d= dxp=
T+4= 6+6= Ox7= Q+2= Txé= B+H= BHx3= 6+4=
Tx6= 4x3= d+8= 8xbH= 8+2= 8+4= Q+6= A=
Ox9= 4+3= 9+3= 3x3= Bxé= 6+2= Bx5H= 8x6=
B+d= B+3= 2+e= 8+5= 9xh= 9+h= 8+7= BHx5=
6+5= Txi= Oxb= bxb= d+2= Tx5= O+7= Ox3=
Tx3= T+6= T+2= 3Ix2= 9+8= 6+3= Oxd= Bx3=
Bxd= 8x3= OxB= Bx7= 8xB= T+7= Oxe= Bxd=
3+3= T+3= 8+6= 8+8= 2xé= 0+0= Bxd= Txd=
v,

\



https://www.youtube.com/watch?v=lZu_8fCopBo
https://www.youtube.com/watch?v=lZu_8fCopBo

\
[ Year 5 & 6 - 100 seconds j

BIG MATHS...

*BEAT THAT!

3+2=5 |6x2=12 |7+5=12 |[Bx2=16 |8+3=11 |5+4=0 |0+4=13 |4x2=8

T+4=11 | 6+b6=12 |O9x7=63 | 9+2=11 | Tx2=14 |b+b=10 |6x3=18 | 6+4=10

Tx6=42 | 4x3=12 |4+4=8 | Bxb=40 | 8+2=10 | 8+4=12 | O+6=15 | 4xd=16

Ox0=81 |4+3=7 |9+3=12 |3x3=0 |bxZ=10 |6+2=8 |bxb=25 | Bx6=48

B+2=7 | b+3=8 |2+2=4 |B+b=13 | Oxb=45 |0+b=14 |8+7=15 | 6x5=30

6+b=11 |7x7=49 |9x6=54 |6x6=30 |4+2=0 |Txb=30 |9+T=16 |9x3=27

Tx3=21 | 7T+b=13 |T+2=0 |3x2=6 |[09+8=17 |6+3=0 |0Ox4=-36 |bx3=1b

Bx4=372 | Bx3=24 | OxB8=72 | Bx7=bt | BxB=064 | T+7=14 |Ox2-18 | 6x4=24

3+3=6 | 7+3=10 |8+6=14 |B+B=l6 | Z2xZ2=4 |0+9=18 |bx4=-20 | Tx4=28
_J




3 YouTube

~

(- Year 5 & 6 - 100 seconds 3

Name:
BIG MATHS... %
4
" My ‘Beat That' 1.r[3lslq:r'-r1-|‘!:r!
"
b+2= 8x7= 7+3= B+6= Ox2= 0+3= 3x3= Tx7=
0x9= 0+0= Hxd= Tx4= 0+5= B+3= 6x5= B+7=
b+4= T+7= 4+3= Ex4= A4+4= Bx5= 4x3= Bx3=
O+4= Ax2= Bxb= B+2= T+b= Bx2= bx2= Txb=
6+5= 7+6= T+4= 3x2= Ox7= 0+2= 6+6= 8+5=
Tx3= 8+8= 2x2= Ox6= 3+2= bx3= 5+b= bxb=
0+7= Ox3= 6+3= T+2= B+4= O+6= 4x4= 3+3=
H+4= bx3= Ox4= Ox8= Bx6= 2+2= Tx2= Bx4=
0+8= Ox5= 8+2= Bx8= 4+2= Bxe= 8+3= Tx5=



https://www.youtube.com/watch?v=lZu_8fCopBo
https://www.youtube.com/watch?v=lZu_8fCopBo

BIG MATHS...

*BEAT THAT!

\

( Year 5 & 6 - 100 seconds J

X

b+2=7

Bx7=bo

7+3=10

8+6=14

Ox2=18

9+3=12

3x3=0

Tx7=49

Ox0=81

0+0=18

bx4=20

Tx4=28

O+b=14

5+3=8

6xb=30

8+7=15

6+4=10

T+7=14

4+3=7

6x4=24

4+4=5

Bx5b=40

4x3=12

8x3=24

O0+4=13

4x2=8

bxb=25

6+2=8

T+b=12

Bx2=16

bx2=12

Tx6=42

6+5=11

T+6=13

T+4=11

3x2=6

Ox7=63

9+2=11

b+H=12

8+b=13

Tx3=21

B8+B=16

2x2=4

Ox6=54

3+2=5h

6x3=18

b+b=10

6x6=36

O0+7=16

Ox3=27

6+3=0

T+2=0

B+4=12

O+6=15

dxd=16

3+3=6

5+4=0

bx3=15

Oxd4=36

Ox8=72

Bx6=48

2+2=4

Tx2=14

8x4=32

0+8=17

Oxb=45

8+2=10

8x8=064

4+2=6

5x2=10

B8+3=11

7x5=35




3 YouTube

MName:

BIG MATHS...

\

N
( Year 5 & 6 - 100 seconds )

) ¢

L
My ‘Beat That' *B EAT TH AT!
-
0+7= 6+3= Ox4= 7+7= Ox0= 6x4= Oxb= 6+5=
Bx7= bBx3= 6+4= 0+h= B+2= 6xb= T+2= Tx3=
g8+hb= Txb= 8+7= Txb= B+2= Txi= Ox8= B+3=
bxb= O+d= dx2= B+3= Bx2= 4+3= 8+8= 2xé=
Ox3= 0+3= 3x3= Tx2= Ox5= Bx3= 6+2= Hxb=
T+6= 2+2= Ix2= 3+2= A4+2= 6x2= 7+h= 8x2=
8+4= O+6= Axd= Bx4= 0+8= 6+6= Ox/= 0+2=
T+d= T+3= 8+6= B+d= BxB= 4x3= 4+4= 8xb=
Bxb= Ox2= 0+0= Hx4= Tx4= 3+3= 5+h= 6x3=



https://www.youtube.com/watch?v=lZu_8fCopBo
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\
( Year 5 & 6 - 100 seconds j

BIG MATHS... %

*BEAT THAT!

O+7=16 | 6+3=0 | Oxd=36 |7+7=14 | 9x0=81 | 6x4=24 | 9x6=54 | 6+b=11

Bx7=56 | bx3=15 |6+4=10 | 9+b=14 |B+2=T7 [6xb=30 |7+2=0 |[7Tx3=21

8+b=13 | 7xb=3b |8+7=15 |Tx6=42 | 8+2=10 | 7x7=490 | OxB=72 | b+3=8

6x6=36 | O+4=13 |4x2=8 |8+3=11 |b5x2=10 |4+3=7 |B+8=16 |Zx2Z=4

Ox3=27 | 9+3=12 |3x3=0 |Tx2=14 | Oxb=45 | Bx3=24 | 6+2=8 |bxb=25

7+6=13 | 2+2=4 | 3x2=06 |3+2=5 |4+2=6 |6x2=12 |7+b=12 | BxZ=16

8+4=12 |9+6=15 |4x4=16 |Bx4=32 | 9+8=17 |[6+6=12 |9x7=063 | 9+2=11

T+4=11 | 7+3=10 |8+6=14 |b+4=0 | BxB=64 |4x3=1¢ |4+4=8 | Bxb=40

Bx6=48 | Ox2=18 | 0+0=18 |bx4=20 | Tx4=28 | 3+3=6 | b+b=10 | 6x3=18
J
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(- Year 5 & 6 - 100 seconds j

MName:
|7 BIG MATHS... W
" My ‘Beat That® *B EAT THAT!
J

8+8= 2xd= 6+h= B+d= Q+6= 4 xd= bxh= H+d=
3+3= Oxt= Tx3= Oxh= 8+2= Bx8= 4:2= bxe=
bte= T+2= Txé= Bxb= T#6= 2+2= Ixe= Txb=
Ox0= Ox8= 8+3= 0+0= Bx4= Txd= 6x3= 5+6=
Tx7= H+3= T+7= B+7= 6x4= 8+b= 3+2= H+d=
T+3= B+6H= Fed= Bxh= Q+7= Gxb= 4+3= Bx7=
B8x3= H+4= Bxh= 4x3= Txh= bx3= Hed= Bxd=
0+h= T+b= Bx2= Hxe= 6+3= Qx2= O+3= 3x3=
Ox3= Ox7= 0+2= G+6= Ox4= Q+d= Ax2= 0+8=



https://www.youtube.com/watch?v=lZu_8fCopBo
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BIG MATHS...

*BEAT THAT!

\

( Year 5 & 6 - 100 seconds j

X

8+8=16 |2x2=4 |[6+b=11 |B8+4=12 |9+6=15 |4x4=16 |bxb=25 | 6+2=8
3+3=6 | 9x6=54 |Tx3=21 |9x5=45 | 8+2=10 |8xB=064 |4+2=0 |Bx2=10
b+2=7 | 7+2=0 |Tx2=14 |8Bx6=48 | T+6=13 |2+2=4 |3Ix2=0 | Txb=42
Ox0=81 |9xB=72 [8+3=11 |0+0=18 | bx4=20 | Tx4=28 |6x3=18 | b+b=10
Tx7=49 |B+3=8 [7+7=14 |B+7=15 | 6x4=24 | 8+5=13 | 3+2=56 | 6+4=10
7+3=10 | 8+6=14 |[7+4=11 |6xb=30 | 9+7=16 |6x6=36 |4+3=7 |8Bx7=56
B8x3=24 |4+4=8 |8x5=40 |4x3=12 | Tx5=30 |bx3=15 |5+4=0 | 8Bx4=32
0+b=14 |7+b=12 |[8x2=16 |6x2=12 | 6+3=0 |0Ox2=18 |9+3=12 | 3x3=0
Ox3=27 |9x7=63 [D+2=11 |6+6=12 | Ox4=36 | 0+4=13 |4x2=8 |[0O+B8=17




3 YouTube

MName:

BIG MATHS...

\

( Year 5 & 6 - 100 seconds ;

x

L
My Geat That' ) *B EAT THAT!
M A
B+2= T+7= 3+3= Exd= Bx7= Q+h= Qx3= Hxb=
Bx2= 6+2= Bxb= B+4= D+6= Ax4= B+7= B+4=
Oxb= B+3= Tx6= 3+2= 2+2= B+B= 2x2= B+b=
4+2= Tx2= Ox0= bx2= F+b= Bx2= T+dl= bxb=
O+8= Ox6= B+d= B+6= Ox7= D+2= B+3= Tx7=
Bx8= T+2= G+d= 4x3= 4+4= Bxh= 6+3= Oxd=
6+h= Ox8= Bx4= 0+0= bxd= Txd= Bxb= Bx3=
Tx3= T+b= Ox2= 3x2= B+b= Bx3= O+7= 4+3=
O+3= 3Ix3= 7xb= O+4= 4x2= T+3= B+b= Bx3=
. »



https://www.youtube.com/watch?v=lZu_8fCopBo
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W

( Year 5 & 6 - 100 seconds j

BIG MATHS... %

*BEAT THAT!

8+2=10

T+7=14

3+3=6

bxd=24

8x7=b6

O+b=14 [9x3=27

6xb=30

bx2=10

6+2=8

B5x5=25

B+4=12

9+6=15

4x4=16 |8+7=15

B+4=0

Ox5=45

B+3=11

Txb=42

3+2=5

2+2=4

B+8=16 |2x2=4

8+b=13

4+2=6

Tx2=14

Ox0=81

bx2=12

7+b=12

Bx2=16 |[7+4=11

bxb6=36

0+8=17

Ox6=04

B+2=7

6+6=12

Ox7=63

0+2=11 |5+3=8

Tx7=49

8x8=64

T+2=9

6+4=10

4x3=12

A+4-5

8xb=40 |6+3=9

Ox4=36

6+b=11

Ox8=72

Bx4=32

0+0=18

Bx4=20

Tx4=28 |8x6=48

8x3=24

Tx3=21

T+6=13

Ox2=18

3x2=06

5+b=10

6x3=18 [9+7=16

4+3=7

0+3=12

3x3=0

Txb=35b

O+4=13

4x2=8

7+3=10 |B+b=14

bx3=15




3 YouTube

Mame:

BIG MATHS...

( Year 5 & 6 - 100 seconds ;

) ¢

\

7
My ‘Beat That' *B EAT TH AT!
-
Txé= OxB= B+d= Ex3= b+h= T+3= 8+6= Txb=
8+3= Ox6= O+7= Bxb5= 6+2= bxb= 6+b= T+4=
Bx7= T+2= B+7= Bx3= T+b= 8+5= Tx3= b+2=
0+5= Ox3= 6x5= 0+3= 3Ix3= 6+3= Ixe= 0x9=
8+4= O+6= 4x4= 2+2= T+7= Ox4= 6xd= Bxd=
Oxe= 0+8= Oxb= g+2= 8xB= A+ = bx2= Bxb=
Txi= 5+3= 0+0= Bxd= Txd= 4+4= 8xb= 4x3=
3+3= 6+4= 4+3= 7x5= 3+2= 7+5= Bx2= 6x2=
8x3= 0+4= 4x2= 8+8= 2x2= Ox7= 0+2= 6+6=



https://www.youtube.com/watch?v=lZu_8fCopBo
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BIG MATHS...

*BEAT THAT!

1

( Year 5 & 6- 100 seconds j

x

Tx2=14

Ox8=72

B+4=0

6x3=18

b+h=10

7+3=10

8+6=14

Txb=42

8+3=11

Ox6=54

0+7=16

bxb=25

6+2=8

b6xb=36

6+b=11

7+4=11

8x7=56

T+2=9

8+7=15

bx3=15

T+6=13

8+b=13

Tx3=21

b+2=7

0+5=14

Ox3=27

bx5=30

0+3=12

3x3=0

6+3=0

3x2=06

Ox9=81

8+4=12

O+6=15

dxd=16

2+2=4

7+7=14

Oxd=36

6x4=24

Bxd=32

Ox2=18

0+8=17

Oxb=45

B+2=10

8x8=064

4+2:6

bx2=10

Bxb=48

Tx7=49

5+3=8

0+0=18

bxd=20

Tx4=28

4+4=§

8xb=40

4x3=12

3+3=6

6+4=10

4+3=7

7xb=35

3+2=5

7+b=12

8x2=16

bx2=12

Bx3=24

0+4=13

4x2=8

B+8=16

2xe=4

Ox7=63

9+2=11

6+6=12
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~

Mame: ( Year 5 & 6 - 100 seconds j
> BIG MATHS... %
My Beat Tra ) *B EAT THAT!
S
6+3= Oxd= Bu7= b+2= Hxb= 0+4= Awl= B+2=
Tx6= Q2= Q+5= 6+5= 6x5= H+4= Q9x9= Bxe=
T+3= B+6= Bxb= Tx3= 0+7= 2+2= H+2= Oxh=
Txh= B+7= B+h= h+b= Bx3= bhx3= B+3= 4+2=
0+3= 3x3= Dx3= B+8-= 2x2= Ox8= Tud= 0+8-=
Bx4= bx2= 7+b= Bx2= T+6= Ox6= 3x2= Bx8=
4+3= B+6= Ox7= Q+2= Tx7= T+2= 6+4= 3+2=
3+3= 4x3= 4+4-= Bxh= Bxb= B+4- D+f= 4xd=
0+0= Bxd= Tud= T+4= Bx3= T+7= B+3= bxd=
S



https://www.youtube.com/watch?v=lZu_8fCopBo
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BIG MATHS... %

*BEAT THAT!

~\

( Year 5 & 6 - 100 seconds j

6+3=0 [ Oxd=36 | Bx7=b6 | 6+2=8 |bxb=25 |0+4=13 |4x2=8 | 8+2=10
Txb=42 | Ox2=18 | 9+b=14 | 6+b=11 |6xb=30 |b+4=0 |Ox9=81 | bx2=10
7+3=10 [ B+6=14 |b6xb6=36 | Tx3=21 [ 9+7=16 |2+2=4 |b+2=7 |Oxb=45
Txb=30 [ B+7=15 | B+b=13 |b+b=10 |6x3=18 |bx3=15 |B+3=11 |4+2=6

0+3=12 | 3x3=0 | Ox3=27 | B+8=16 |2x2=4 |Ox8=72 |7x2=14 | D+8=17
Bx4=32 | 6x2=12 | T+b=12 |8x2=16 |7+6=13 |Oxb6=b4 |3x2=-6 | 8x8=064
A4+3=7 | 6+6=12 | 9u7=63 | 9+2=11 |[Tx7=49 |7+2=0 |6+4=10 | 3+2=5

3+3=6 | 4x3=12 |4+4=8 | Bxb=40 |8Bxb6=48 |8+4=12 |9+6=1D0 | 4x4=1b
0+0=18 | bxd=20 | Txd=28 | T+4=11 |[Bx3=24 |7+7=14 |b+3=8 | 6x4=24




3 YouTube

~\

Name: ( Year 5 & 6 - 100 seconds j
BIG MATHS... %
7
" My ‘Beat That' *B EAT THAT!
A
Ox3= | 0+3= |3x3= |7x2= |OxB= |8x3= |6+2= | BxBs
0+s7=  |6+3= | Ox4= |7+7= |9x0= |6x4= |Ox6= |6+5:
7+4= | 7+3=  |8+6=  |5+4=  |BxB= |4x3= |4+4= | BxB-
Ex6= O+4= 4x2= 8+3= bxe= 4+3= 8+8= 2xe=
Bx6= Ox2= 0+0= Bxd= Txd= 3+3= h+h= Bx3=
8+b= Txb= 8+7-= Txb= 8+2= Tx7= Ox8= B+3=
8+4= O+fh= 4xd= Bxd= Q+8= H+h= QOx7= Q+2=
8x7= Bx3= G6+4= 9+5= b+2= 6x5= T+2= Tx3=
7+6= 2+2= Ixe= 3+2= 4+2= bxe= T+h= 8x2=
>



https://www.youtube.com/watch?v=lZu_8fCopBo
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BIG MATHS...

*BEAT THAT!

~

[ Year 5 & 6 - 100 seconds j

x

Ox3=27

0+3=12

3x3=0

Tx2=14

Oxb=45

Bx3=24

6+2=8

bxb=25

O+7=16

6+3=0

Oxd=36

7+7=14

Ox0=81

bxd=24

Ox6=54

6+b=11

T+4=11

7+3=10

8+6=14

B+4=0

8x8=-64

4x3=12

4+4=8

8xb=40

6x6=36

0+4=13

4x2=8

8+3=11

Bx2=10

4+3=7

8+8=16

2x2=4

Bxb=48

Ox2=18

9+0-18

bx4=20

Tx4=28

3+3=6

b+b=10

6x3=18

8+b=13

7xb=35

8+7=15

Tx6=42

8+2=10

Tx7=49

OxB=72

b+3=8

8+4=12

0+6=15

4xd=16

Bx4=32

0+8=17

6+6=12

Ox7=63

0+2=11

8x7=56

bx3=15

6+4=10

O0+b=14

5+2=7

6xb=30

T+2=0

Tx3=21

T+6=13

2+2=4

3x2=6

3+2=5

4+2=6

bx2=12

7+b=12

Bx2=16
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d Y
Mame: [ Year 5 & 6 - 100 seconds )
BIG MATHS...
7 &BEAT THAT!
S A
A+d= Ax3= Quedl= OxB= BxbH= 2+2= Txé= Bxd=
6+h= T+b= T+d= 3Axe= Qxi= O+= 6+6= 8+h=
G+4= T+7= 4+3= Gxd= 4+d= Bxh= Ax3= Bx3=
O+7= Ox3= 6+3= T+2= B+d= O+f= A= 3+3=
Q+d= = Ax5H= B+2= F+h= Bx7= GxZ= Txb=
Tx3= 8+8= gxe= Oxb= FeP= tix3= Beh= txb=
O+8= Qxh= B+¢= BxA= 4+p= Rxd= 8+3= Txh=
Ox0= 9+0= Rxd= Txd= Q+h= A+3= Gxh= 8+7=
B+ = B8x7= 7+3= B+6= Oxi= 0+3= 3x3= Txf=
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BIG MATHS...

*BEAT THAT!

~

( Year 5 & 6 - 100 seconds j

x

B+d=0

bx3=15

Ox4=36

Ox8=72

8x6=48

2+2=4

Tx2=14

Bx4=32

6+b=11

T+6=13

T+4=11

Ix2=6

Ox7=63

0+2=11

6+6=12

B+b=13

6+4=10

T+7=14

4+3=7

bxd4=24

4+4-8

Bxb=40

4x3=12

Bx3=24

0+7=16

Ox3=27

6+3=0

7+2=0

8+4=12

0+6=15

4x4=16

3+3=6

O+4=13

4x2=8

bxb=25

6+2=8

7+b=12

Bx2=16

bx2=12

Tx6=42

Tx3=21

8+8=16

2x2=4

Ox6=54

3+2=5

6x3=18

B+b=10

bxb=36

0+8=17

Oxb=45

8+2=10

Gx8=64

4+2=6

bx2=10

8+3=11

Tx5=35

0x0=81

9+0=18

bx4=20

Tx4=28

9+b=14

b+3=8

6x5=30

B+7=15

b+2=7

Bx7=b6

7+3=10

8+6=14

Ox2=18

0+3=12

3x3=0

Txf=49
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Mame:

BIG MATHS...

x

[ Year 5 & 6 - 100 seconds ;

L
My ‘Beat That' ) *B EAT THAT!
e A
3x3= 7xb= O+4= T+3= B+6= bxb= Bx7= B+2=
Ox8= Bx4= 0+0= Tx4= Bxb= b+d= O+6= bx2=
Ox6= b+2= B+6H= 0+2= B+3= B+b= 2+2= Oxb=
Tx2= Ox0= bx2= Bx2= T+i= bxb= 7+b= 4+2=
B+3= Txb6= 3+2= 8+8= 2x2= Tx7= Ox7= O+8=
T+b= Ox2= 3x2= bx3= O+7= Ox4= 4+4= Bxb=
B+2= bxb= B+4= 4xd= B+7= Bx3= Bxd= B+b=
T+2= G+d= 3= Bxb= G+3= d+3= b+b= Tx3=
T+7= 3+3= Bxd= Q+h= Dx3= Bx3= dx2= O+3=
. J

\



https://www.youtube.com/watch?v=lZu_8fCopBo
https://www.youtube.com/watch?v=lZu_8fCopBo

~

( Year 5 & 6 - 100 seconds j

BIG MATHS... %

*BEAT THAT!

3x3=0 | 7xb=35 |0+4=13 | 7+3=10 | 8+6=14 |6xb=30 |8Bx7=D6 |B+2=10

OxB8=72 |Bx4=32 |0+0=18 | Tx4=28 | Bx6=48 | 5+4=0 |O+6=15 |bx2=10

Ox6=54 | b+2=7 |6+6=12 |O+2=11 |B+3=8 |8+b=13 |2+2=4 |9Oxb=45

Tx2=14 |9x0=81 |6x2=12 |Bx2=16 |7+4=11 |6x6=306 |7+b=12 |4+2=06

B+3=11 |7x6=42 |3+2=5 |B+8=16 |2x2=4 |Tx7=40 |Ox7=63 |9+8=17

T+6=13 |9x2=18 |3x2=6 |6x3=18 |0+7=16 |Ox4=36 |4+4=8 |8BxB8=04

6+2=8 |Dbxb=25 |B+4=12 |4x4=16 |8+7=15 |8x3=24 |5x4=20 | 6+b=11

7+2=0 | 6+4=10 |4x3=12 |8xb=40 | 6+3=0 |4+3=7 |5+b=10 |Tx3=21

T+7=14 |3+3=6 |6x4=24 | D+b=14 | Ox3=27 | bx3=15 |4x2=8 |[0+3=12
. o




